SB13EEETY MI-T BiER

Bl

BREER

01.7.5R0R7E

A8 |wa| a8 1A 1B 2A 2B
19:10 19:10 20:10 20:10
7
* | »n M| 2 F-LRP40 4 LFCHYIPVH-MAES | SR M| 3 F-ABB50 1 [EXTUMBLERS | X¥
1(9/12| B | 7
[= I
| F|Y| 3 F-LKBES50 1 [EKXTUMBLERS =1 B|Y| 2 F-LBRE40 4 LFCY>IPuh-AAES | Y
EE| 3 F-LKRES50 1 [EKXTUMBLERS EE EE| 2 F-LRBRE40 4 LFCY>IPuh-AAES | EE
A8 |wa| 2 1A 1B 2A 2B
19:10 19:10 20:10 20:10
7
* | » | 4 LFCYHVIPUi-AXES | 3 F-LRES50 oL 3J¥| 1 EHTUMBLERS 2 F-LE®40 ot
2|9/19| & | 7
[= I
| Y| 1 [LKXTUMBLERS 2 F-LHEE40 &= BY| 4 LFCH>I7H-WAES | 3 F-LBRES0 &=
EE| 1 [LKXTUMBLERS 2 F-LHEE40 EE EE| 4 LFCHIIPH-AAES | 3 F-LMEES0 bt
A8 |wa| 2 1A 1B 2A 2B
19:10 19:10 20:10 20:10
7
& | p | 1A| 4 Lreomrun-uzEs | 1 IGHTUMBLERS | 8% M| 3 F-LIEE50 2 F-AtE®40 oL
3|9/26| & | 7
=] =
| FJY| 2 F-LBRE40 3 F-LBRES0 =Y B|Y| 4 LFCO>Iri-WXE# [ 1 RFTUMBLERS &=
JEE| 2 F-LBE40 3 F-LHBES0 SEE JEBE| 4 LFCH I i-AZES | 1 GHTUMBLERS | 8E
A8 |wa| 2 1A 1B 2A 2B
19:10 19:10 20:10 20:10
7
x| 5 | B ot 3 ot} ot
4(10/3| & | 7
Bz - - =
|| =4 =¥ =4
EE EE per= b=
A8 |wa| 2 1A 1B 2A 2B
19:10 19:10 20:10 20:10
o
* ;J M| 2 F-LiRB40 4 LFCHYIPVH-MAES | 3R M| 3 F-ABB50 1 [RXTUMBLERS | %4
5|10/10| B | 7
=] =
| #¥)| 1 [KXTUMBLERS 3 F-LHRES0 &= w|H| 4 LFCHIVA-NAEE | 2 F-LiRB40 &=
EE| 1 [LKXTUMBLERS 3 F-LIRES0 EE BE| 4 LFCHImh-NAES | 2 F-ARB40 EE
A8 |wa| 2 1A 1B 2A 2B
19:10 19:10 20:10 20:10
o
* ;J S| 4 LFCHVIrVAi-AXES | 3 F-LARB50 oL 3| 1 EKXTUMBLERS 2 F-L#EB40 ot
6 |10/17| B | 7
=] =
| #/Y| 2 F-LBB40 1 [KHXITUMBLERS =Y #|Y| 3 F-LBRES0 4 LFCHYIPUH-NAES | B
EE| 2 F-LBE40 1 [KHXITUMBLERS EE EE| 3 F-LBRES0 4 LFCH>IPui-NAES | EE




SB13EEETY MI-T BiER

A1 BiEk

01.7.5R0R7E

A8 |wa| a8 1A 1B 2A 2B
19:10 19:10 20:10 20:10
* Z X 4 LFey Irun-AXESE | 1 IEKXITUMBLERS | X N 3 F-LBB50 2 F-L&B40 SR
7 (10/24| B | 7
B I: FHI 3 F-LKRES0 4 LFCHY D7 li-NAE%S | 2 B 4 LFCH I i-AXES | 1 KHTUMBLERS =
EE| 3 F-LKRES0 4 LFCHY I Hi-MN AT | e EE| 4 LFCH I i-AZES | 1 LHTUMBLERS EE
CENLEIRS] 1A 1B 2A 2B
19:10 19:10 20:10 20:10
7
x| [m ol ol ol
8|10/31| B | 7
B A E 4 =4 =4
il il i i
CENLEIES 1A 1B 2A 2B
19:10 19:10 20:10 20:10
7
x| [m ol ol ol
9|11/7| B 7
H R E =4 =4 =4
i i B B
CEALEIE= 1A 1B 2A 2B
19:10 19:10 20:10 20:10
7
x| R 8 ol ol
10| 11/14| B8 | 7
H R E 4 =4 =4
i i B B
CEAL IR 1A 1B 2A 2B
19:10 19:10 20:10 20:10
7
| p [ ol ol ol
11| 11721 B | 7
B hE =4 =4 =4
EE EE EE EE
CEAL IR 1A 1B 2A 2B
19:10 19:10 20:10 20:10
7
| p [ ol ol ol
12(11/28| B | 7
B R E e 4 4
i o i i




